Oxidation-Reduction Reactions/Types

H) Write a balanced oxidation-reduction equation for each of the metals combining with a nonmetal.
Identify what got oxidized and what got reduced. ’
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He) Classify the following reactions as either: precipitation, neutralization, or oxidation-reduction.

HCl(aq) + AgCHs0,(aq) = AgCl(s) + HGCHs0, (aq) W%’

GHgO (I) + 0y(g) = CO;(g) + Hy0 (g) oY

HOz(ag) > HO() + O2(8)  g-¢

HCl(ag) + ALOH); (s) > AICh (ag) + HO () New

Pb(NOs), (aq) + Nal(ag)> Pbl,(s) + NaNOs(aq) ppt

NaOH (ag) + H,S04(ag) = H,O(l) + Na,SO,(aq) e



Neutralization Reactions

Complete the word equations, then write balanced formula equations with physical states for the
following neutralization reactions. Assume all reactants are aqueous.
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hydrochloric acid + rubidium hydroxide -> wajt‘*ﬁd"“ + f&,aj@{@i\'fu&m Q%}\i(l«fn\cl%
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calcium hydroxide + hydrobromic acid 2> Wc&lﬁer AN gk\, Ciawn \.gfumni-'é
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&%\ N) Indicate the reactants needed to make the following salts and water. Id the acid and the base.

NaO¥  +  HaSO4 > (@0 + a0 (R)ou

ROtk  +  _HNO: > ®nosfag) + mo() (Frow

KoH + ﬁ(”hg > KClO,(aq) + H,0 ()
KOW + H | > Kal (ag) +  H0())




